
Service Parts Catalog Contents

PageSet 6

Body

390 Mirrors

EXTERIOR

BUS BOY

DRIVER AND PASSENGER SIDE

With: FEATURE 30484-01 or 30484-02
_____________________________________________________________________________ 1

CANADIAN UNITS ONLY

With: FEATURE 30484
_____________________________________________________________________________ 2

LOMAR

_____________________________________________________________________________ 3

MIRROR HEADS

With: OPTION 22281, 22288, 22291, 22292
_____________________________________________________________________________ 4

NOMAD

DRIVER SIDE

With: FEATURE 30483-01, -02
_____________________________________________________________________________ 5

PASSENGER SIDE

With: FEATURE 30483-01, -02
_____________________________________________________________________________ 6

RAMCO

With: TEMPORARY OPT
_____________________________________________________________________________ 7

RH & LH

With: STD.
_____________________________________________________________________________ 8

WITH JUNIOR DOLLY MIRRORS

With: STD.
_____________________________________________________________________________ 9

ROSCO AVIA, 9 X 17

DETENT

With: FEATURE 30483-08
____________________________________________________________________________ 10

NON-DETENT

With: FEATURE 30483-06
____________________________________________________________________________ 11

ROSCO CROSSVIEW, MINI HAWKEYE, FIXED

FOR GEORGIA ONLY

With: FEATURE 30484-07
____________________________________________________________________________ 12

ROSCO CROSSVIEW, MINI-HAWKEYE

With: FEATURE 30484-05
____________________________________________________________________________ 13



Service Parts Catalog Contents

PageSet 6

ROSCO EUROSTYLE

With: FEATURE 30483-04 IS FOR MIRRORS FOR NON-SCHOOL BUS UNITS.

FEATURE 30483-05, -09, -12, -16 IS FOR MIRRORS FOR SCHOOL BUS UNITS
____________________________________________________________________________ 14

ROSCO MINI-HAWKEYE CROSSVIEW & AVIA IDENTIFICATION

With: FEATURE 30483-06, -08 & FEATURE 30484-05
____________________________________________________________________________ 15

SAFETY CROSS

DRIVER AND PASSENGER SIDE

With: FEATURE 30484-03, -04
____________________________________________________________________________ 16

INTERIOR

10 X 30

With: OPTION 22258, 22263
To BSN B10097194 B20097244 F10050449 F20050479 L10083419
____________________________________________________________________________ 17

6 X 16 & 6 X 30

____________________________________________________________________________ 18

6 X 30 & 10 X 30

With: STD, FEATURE 22258, 22259, 22263
From BSN B10097195 B20097245 F10050450 F20050480 L10083420
____________________________________________________________________________ 19



Models: A3FE, A3RE, B1VC, B2VC, GMCV, SBCV, TCFE
EXTERIOR
BUS BOY
DRIVER AND PASSENGER SIDE

With Features: FEATURE 30484-01 or 30484-02

Service Parts Catalog

Key PartNumber Qty Description Comment

390 Mirrors
Page Set PS0005010

1
To order, contact your Blue Bird Authorized Dealer

PageSet Number



Models: A3FE, A3RE, B1VC, B2VC, GMCV, SBCV, TCFE
EXTERIOR
BUS BOY
DRIVER AND PASSENGER SIDE

With Features: FEATURE 30484-01 or 30484-02

Service Parts Catalog

Key PartNumber Qty Description Comment

390 Mirrors
Page Set PS0005010

1980788 MIRROR ASSY,BUS BOY,RH & LH FTLR FEATURE 30484-01.

1980812 MIRROR ASSY,BUS BOY,HEATED,RH & LH FTLR FEATURE 30484-01.

1980820 MIRROR ASSY,BUS BOY,SST,RH & LH FTLR FEATURE 30484-02.

1980853 MIRROR ASSY,BUS BOY,SST,HEATED,RH & LH FEATURE 30484-02.

1 1980796 POST,MIRROR,BUS BOY,16GA,.75 OD CRS 

1 1980804 POST,MIRROR,BUS BOY,16GA,.75 OD CRS 

2 4287918 MIRROR,HEAD ONLY,BUS BOY FEATURE 30484-01,-02.

2 4298139 MIRROR,HEAD ONLY,BUS BOY,HEATED FEATURE 30484-01, -02. HEATED

* 0017390 BASE AND ARM ASSY,MIRROR,LH * BASE & ARM ASSEMBLIES 
CONSIST OF KEY # 5, 9, 10, 11,
12 AND 13.

* 0017391 BASE AND ARM ASSY,MIRROR,RH * BASE & ARM ASSEMBLIES 
CONSIST OF KEY # 5, 9, 10, 11,
12 AND 13.

* 0034706 BASE AND ARM ASSY,MIRROR,STAINLESS * BASE & ARM ASSEMBLIES 
CONSIST OF KEY # 5, 9, 10, 11,
12 AND 13.

* 0034705 BASE AND ARM ASSY,MIRROR,STAINLESS * BASE & ARM ASSEMBLIES 
CONSIST OF KEY # 5, 9, 10, 11,
12 AND 13.

3 14 SCREW, #10-32 X 1, PAN HEAD, STAINLESS 

4 1315118 14 WELLNUT Q-1032,.377 X 5/8

5* BRACE, MIRROR, BUS BOY, 14 INCH

6 1435007 5 CLAMP,TUBE,.75 ID,TRIPOD CROSSVIEW 

7 8 BOLT, 5/16-18 X 3/4, STAINLESS STEEL

8 8 NUT, HEX, FLANGE, 5/16-18, STAINLESS STEEL

9* 0075900 BASE,LH,MIRROR ARM ASSY

9* 0075899 BASE,RH,MIRROR ARM ASSY

10 BRACE, MIRROR, BUS BOY, 8 INCH

11 0082849 BRACE,MIRROR,BUS BOY,20 INCH,FTLR"

12 3 BRACKET, MOUNTING

13 BRACE, MIRROR, BUS BOY, 24 INCH

1
To order, contact your Blue Bird Authorized Dealer

PageSet Number



Models: A3FE, A3RE, TCFE, TCRE, TSFE
EXTERIOR
BUS BOY
DRIVER AND PASSENGER SIDE
CANADIAN UNITS ONLY

With Features: FEATURE 30484

Service Parts Catalog

Key PartNumber Qty Description Comment

390 Mirrors
Page Set PS0005019

2
To order, contact your Blue Bird Authorized Dealer

PageSet Number



Models: A3FE, A3RE, TCFE, TCRE, TSFE
EXTERIOR
BUS BOY
DRIVER AND PASSENGER SIDE
CANADIAN UNITS ONLY

With Features: FEATURE 30484

Service Parts Catalog

Key PartNumber Qty Description Comment

390 Mirrors
Page Set PS0005019

0008904 MIRROR ASSY,BUS BOY,RH/LH,CMVSS-111, FEATURE 30484-01.

0008912 MIRROR ASSY,BUS BOY,RH/LH,HTD,CMVSS111 FEATURE 30484-01 WITH 
FEATURE 30482-01.

0008920 MIRROR ASSY,BUS BOY,RH/LH,SST, FEATURE 30484-02.

0008938 MIRROR ASSY,BUS BOY,RH/LH,SS,HTD, FEATURE 30484-02 WITH 
FEATURE 30482-01.

NI 0042942 BASE AND ARM ASSY,MIRROR,BUS BOY,RH, NOT SOLD SEPARATELY

1 POST, MIRROR, BUS BOY, 16 GA.

2 4287918 MIRROR,HEAD ONLY,BUS BOY FEATURE 30484-01, 30484-02

2 4298139 MIRROR,HEAD ONLY,BUS BOY,HEATED FEATURE 30484-01, 30484-02 
WITH FEATURE 30482-01. 
HEATED

3 6 SCREW, #10 x 3/4, PAN HEAD, STAINLESS 

4 4313144 CLAMP 1",POST DOUBLE NICKEL

5 2 BOLT, 5/16-18 x 3/4, STAINLESS STEEL

6 2 NUT, HEX, FLANGE, 5/16-18, STAINLESS STEEL

7 BRACKET, MOUNTING

8 1453760 BRACE,ARM,MIRROR LITE NO 74-906

9 1453752 MOUNT,BRACE,CURVED FOOT,MIRROR

2
To order, contact your Blue Bird Authorized Dealer

PageSet Number



Models: A3FE, A3RE, AAFE, AARE, C1FE, GMCV, MBWB, SBCV, T2RE, TCFE, TCRE, TSFE
EXTERIOR
LOMAR

Service Parts Catalog

Key PartNumber Qty Description Comment

390 Mirrors
Page Set PS0004987

3
To order, contact your Blue Bird Authorized Dealer

PageSet Number



Models: A3FE, A3RE, AAFE, AARE, C1FE, GMCV, MBWB, SBCV, T2RE, TCFE, TCRE, TSFE
EXTERIOR
LOMAR

Service Parts Catalog

Key PartNumber Qty Description Comment

390 Mirrors
Page Set PS0004987

1 1641372 BRACKET ASSY,MTG,MIRROR,REARVIEW,RH,A3

2 1638634 BRACKET,MTG,MIRROR,POST

NI 4302410 BAR,TORSION,DOUBLE NICKEL

3 2000198 5 SCREW,5/16-18 X 1,D,HEX HD,YEL ZN DICH

4 1638675 2 MIRROR,FLAT,UPPER,NOMAD,RH & LH

5 1638683 2 MIRROR,CONVEX,LOWER,NOMAD,RH & LH

6 1643964 BRACE,UPPER,MIRROR,REARVIEW,A3

7 2000214 CAPSCREW,HEX HD,5/16-24X1 1/2,GR5,

8 0617100 NUT,ACORN,5/16-24,YEL ZN DICH

9 1708783 WASHER,FLAT,11/32 X 1 1/4 X 5/32 THK,BLACK

10 MIRROR, FLAT, 7 X 20, LOMAR

11 0114193 U-CLIP,BRACKET,MTG,MIRROR,1" BAR,LOMAR

12 MOUNT, LH, MIRROR

13 MIRROR, ROUND CONVEX, 8 IN., LOMAR

14 BRACKET, MTG, FOR 8 IN. ROUND CONVEX

3
To order, contact your Blue Bird Authorized Dealer

PageSet Number



Models: AAFE, AARE, A3FE, A3RE, GPWB, MBWB, SBCV, TCFE, TCRE, VCTA
EXTERIOR
MIRROR HEADS

With Features: OPTION 22281, 22288, 22291, 22292

Service Parts Catalog

Key PartNumber Qty Description Comment

390 Mirrors
Page Set PS0005006

NI 1646553 2 MIRROR,FLAT,UPPER,NOMAD,HEATED OPTION 22281

NI 1646520 2 MIRROR,DOUBLE NICKEL,FLAT,UPPER,HEATER OPTION 22288

NI 1646538 2 MIRROR,CONVEX,LOWER,HEATED,DOUBLE OPTION 22288

NI 1646546 2 MIRROR,7 X 16,FLAT,HEATED OPTION 22291

NI 1646553 2 MIRROR,FLAT,UPPER,NOMAD,HEATED OPTION 22292

NI 1646561 2 MIRROR,CONVEX,LOWER,NOMAD,HEATED OPTION 22292

4
To order, contact your Blue Bird Authorized Dealer

PageSet Number



Models: A3FE, A3RE, TCFE, TCRE, TSFE
EXTERIOR
NOMAD
DRIVER SIDE

With Features: FEATURE 30483-01, -02

Service Parts Catalog

Key PartNumber Qty Description Comment

390 Mirrors
Page Set PS0005004

5
To order, contact your Blue Bird Authorized Dealer

PageSet Number



Models: A3FE, A3RE, TCFE, TCRE, TSFE
EXTERIOR
NOMAD
DRIVER SIDE

With Features: FEATURE 30483-01, -02

Service Parts Catalog

Key PartNumber Qty Description Comment

390 Mirrors
Page Set PS0005004

1987361 MIRROR ASSY,6.5X10,RVW,LH,CAN,A3 FEATURE 30483-01.

1987379 MIRROR ASSY,6.5X10,RVW,LH,HTD,CAN,A3 FEATURE 30483-01 WITH 
FEATURE 30482-01.

1987387 MIRROR ASSY,7X10,RVW,LH,CAN, A3 FEATURE 30483-02.

1987395 MIRROR ASSY,7X10,RVW,LH,HTD,CAN, A3 FEATURE 30483-02 WITH 
FEATURE 30482-01.

1 1638634 BRACKET,MTG,MIRROR,POST

2 2000198 2 SCREW,5/16-18 X 1,D,HEX HD,YEL ZN DICH

3 1638675 MIRROR,FLAT,UPPER,NOMAD,RH & LH FEATURE 30483-01. 6.5 x 10

3 1646553 MIRROR,FLAT,UPPER,NOMAD,HEATED FEATURE 30483-01 WITH 
FEATURE 30482-01.

3 4308474 MIRROR,FLAT,UPPER,NOMAD,NON-HEATED,DBL FEATURE 30483-02. 7 x 10

3 0009442 MIRROR,FLAT,UPPER,NOMAD,HEATED,7X10 FEATURE 30483-02 WITH 
FEATURE 30482-01.

4 1638683 MIRROR,CONVEX,LOWER,NOMAD,RH & LH FEATURE 30483-01. 6.5 x 10

4 1646561 MIRROR,CONVEX,LOWER,NOMAD,HEATED FEATURE 30483-01 WITH 
FEATURE 30482-01. HEATED

4 4308417 MIRROR,CONVEX,LOWER,NON-HEATED,DBL FEATURE 30483-02. 7 x 10

4 1646538 MIRROR,CONVEX,LOWER,HEATED,DOUBLE FEATURE 30483-02 WITH 
FEATURE 30482-01. HEATED

5
To order, contact your Blue Bird Authorized Dealer

PageSet Number



Models: A3FE, A3RE, TCFE, TCRE, TSFE
EXTERIOR
NOMAD
PASSENGER SIDE

With Features: FEATURE 30483-01, -02

Service Parts Catalog

Key PartNumber Qty Description Comment

390 Mirrors
Page Set PS0005003

6
To order, contact your Blue Bird Authorized Dealer

PageSet Number



Models: A3FE, A3RE, TCFE, TCRE, TSFE
EXTERIOR
NOMAD
PASSENGER SIDE

With Features: FEATURE 30483-01, -02

Service Parts Catalog

Key PartNumber Qty Description Comment

390 Mirrors
Page Set PS0005003

1987312 MIRROR ASSY,RRVW,6.5X10,RH,CAN,A3 FEATURE 30483-01.

1987320 MIRROR ASSY,RRVW,6.5X10,RH,HEATED,CAN, FEATURE 30483-01 WITH 
FEATURE 30482-01.

1987338 MIRROR ASSY,RRVW,7X10,RH,CAN, A3 FEATURE 30483-02.

1987346 MIRROR ASSY,RRVW,7X10,RH,HEATED,CAN, A3 FEATURE 30483-02 WITH 
FEATURE 30482-01.

1 0070596 BRACKET ASSY,MTG,MIRROR,REARVIEW,RH

2 2000198 3 SCREW,5/16-18 X 1,D,HEX HD,YEL ZN DICH

NI 4302410 BAR,TORSION,DOUBLE NICKEL

3 1638675 MIRROR,FLAT,UPPER,NOMAD,RH & LH FEATURE 30483-01. 6.5 x 10

3 1646553 MIRROR,FLAT,UPPER,NOMAD,HEATED FEATURE 30483-01 WITH 
FEATURE 30482-01.

3 4308474 MIRROR,FLAT,UPPER,NOMAD,NON-HEATED,DBL FEATURE 30483-02. 7 x 10

3 0009442 MIRROR,FLAT,UPPER,NOMAD,HEATED,7X10 FEATURE 30483-02 WITH 
FEATURE 30482-01.

4 1638683 MIRROR,CONVEX,LOWER,NOMAD,RH & LH FEATURE 30483-01. 6.5 x 10

4 1646561 MIRROR,CONVEX,LOWER,NOMAD,HEATED FEATURE 30483-01 WITH 
FEATURE 30482-01.

4 4308417 MIRROR,CONVEX,LOWER,NON-HEATED,DBL FEATURE 30483-02. 7 x 10

4 1646538 MIRROR,CONVEX,LOWER,HEATED,DOUBLE FEATURE 30483-02 WITH 
FEATURE 30482-01.

5 1643956 BRACE,UPPER,MIRROR,REARVIEW,SBCV

6 2000214 CAPSCREW,HEX HD,5/16-24X1 1/2,GR5,

7 0617100 NUT,ACORN,5/16-24,YEL ZN DICH

8 4313144 CLAMP 1",POST DOUBLE NICKEL

*9 1708783 WASHER,FLAT,11/32 X 1 1/4 X 5/32 THK,BLACK

6
To order, contact your Blue Bird Authorized Dealer

PageSet Number



Models: A3FE, A3RE, B1VC, B2VC, B4RE, C1FE, CSEV, CSFE, CSRE, GMCV, GPWB, MBWB,
Q4RE, SBCV, T2RE, TCEV, TCFE, TSFE

EXTERIOR
RAMCO

With Features: TEMPORARY OPT

Service Parts Catalog

Key PartNumber Qty Description Comment

390 Mirrors
Page Set PS0005040

9002564 TO,MIRROR ASSY,RAMCO 6002CCHR-BRITE,

NI 0026586 MIRROR HEAD ONLY,POLISHED,LH OR RH (FOR

NI 8317240 ARM ASSY,MIRROR,12"",RH OR LH,RAMCO"

NI 0026611 MOUNT,POLISHED,LH OR RH

NI 4501102 GLASS,MIRROR,FLAT,HEATED,VELCRO

NI 0026612 GLASS,MIRROR,CONVEX,LOWER,ON SNAP-ON 

NI 0026613 BALL STEM,CHROME,3/4"X3",W/TAPER

NI 0026614 ALUMINUM BALL CUPS

NI 0026615 SCREW,#6-32 X 1 1/8”,PH,PAN

NI 4404976 SCREW,SET,OVAL,PT.SS 3/8-16X3/8,RAMCO

NI 0026616 BOLT,1/2”-13 X 3 1/4”,HHCS SS

NI 0026617 WASHER,1/2” X 1 1/16”,FLAT,SS

NI 0026619 WASHER,1/2”,LOCK,SS

NI 0026620 MOTOR,ELECTRIC,MED,W/6" X 7" ALUM VELCRO MOUNTED BEHIND CONVEX 
GLASS.

NI 0026623 SMALL MANUAL MECHANISM W/TABS ON RING MOUNTED BEHIND CONVEX 
GLASS.

NI 4404968 SCREW,6-32X3/4 TYPE F,FLAT PHIL,RAMCO

NI 0026624 WASHER,2 1/4",ALUMINUM,W/1/2" X 1/4" 

7
To order, contact your Blue Bird Authorized Dealer

PageSet Number



Models: AAFE, AARE, A3FE, A3RE, C1FE, T2RE, TCEV, TCFE, TCRE, TSFE
EXTERIOR
RH & LH

With Features: STD.

Service Parts Catalog

Key PartNumber Qty Description Comment

390 Mirrors
Page Set PS0004986

8
To order, contact your Blue Bird Authorized Dealer

PageSet Number



Models: AAFE, AARE, A3FE, A3RE, C1FE, T2RE, TCEV, TCFE, TCRE, TSFE
EXTERIOR
RH & LH

With Features: STD.

Service Parts Catalog

Key PartNumber Qty Description Comment

390 Mirrors
Page Set PS0004986

1 1641372 BRACKET ASSY,MTG,MIRROR,REARVIEW,RH,A3

2 1638634 BRACKET,MTG,MIRROR,POST

NI 4302410 BAR,TORSION,DOUBLE NICKEL

3 0079314 5 SCREW,5/16-18 X 1,D,HEX,WASH,STAINLESS 

4 1638675 2 MIRROR,FLAT,UPPER,NOMAD,RH & LH

5 1638683 2 MIRROR,CONVEX,LOWER,NOMAD,RH & LH

6 1643964 BRACE,UPPER,MIRROR,REARVIEW,A3

7 1396555 CAPSCREW,HEX HD,5/16-18 X 1 1/2,GR 5,SST

8 0074959 NUT,HEX,5/16-18,ACORN,STAINLESS STEEL

9 0074960 WASHER,FLAT,11/32 X 1 1/4 X 5/32,STNLS STL TO BE USED WITH 2 PIECE 
CURVED WINDSHIELD ONLY.

8
To order, contact your Blue Bird Authorized Dealer

PageSet Number



Models: AAFE, AARE, A3FE, A3RE, C1FE, TCFE, TCRE, TSFE
EXTERIOR
RH & LH
WITH JUNIOR DOLLY MIRRORS

With Features: STD.

Service Parts Catalog

Key PartNumber Qty Description Comment

390 Mirrors
Page Set PS0004985

9
To order, contact your Blue Bird Authorized Dealer

PageSet Number



Models: AAFE, AARE, A3FE, A3RE, C1FE, TCFE, TCRE, TSFE
EXTERIOR
RH & LH
WITH JUNIOR DOLLY MIRRORS

With Features: STD.

Service Parts Catalog

Key PartNumber Qty Description Comment

390 Mirrors
Page Set PS0004985

1 1641372 BRACKET ASSY,MTG,MIRROR,REARVIEW,RH,A3

2 1638634 BRACKET,MTG,MIRROR,POST

NI 4302410 BAR,TORSION,DOUBLE NICKEL

3 2000198 5 SCREW,5/16-18 X 1,D,HEX HD,YEL ZN DICH

4 1638675 2 MIRROR,FLAT,UPPER,NOMAD,RH & LH

5 1638683 2 MIRROR,CONVEX,LOWER,NOMAD,RH & LH

6 1643964 BRACE,UPPER,MIRROR,REARVIEW,A3

7 2000214 CAPSCREW,HEX HD,5/16-24X1 1/2,GR5,

8 0617100 NUT,ACORN,5/16-24,YEL ZN DICH

*9 1708783 WASHER,FLAT,11/32 X 1 1/4 X 5/32 THK,BLACK

10 1737915 MIRROR ASSY,JR DOLLY,LH

11 1737923 MIRROR ASSY,JR DOLLY,RH

12 1738905 CLAMP,MIRROR,1" TUBE

13 2000073 2 SCREW,1/4-20 X 1,D,HEX HD,YEL ZN DICH

9
To order, contact your Blue Bird Authorized Dealer

PageSet Number



Models: A3FE, A3RE, C1FE, GMCV, SBCV, TCFE
EXTERIOR
ROSCO AVIA, 9 X 17
DETENT

With Features: FEATURE 30483-08

Service Parts Catalog

Key PartNumber Qty Description Comment

390 Mirrors
Page Set PS0005033

10
To order, contact your Blue Bird Authorized Dealer

PageSet Number



Models: A3FE, A3RE, C1FE, GMCV, SBCV, TCFE
EXTERIOR
ROSCO AVIA, 9 X 17
DETENT

With Features: FEATURE 30483-08

Service Parts Catalog

Key PartNumber Qty Description Comment

390 Mirrors
Page Set PS0005033

* 0033050 MIRROR ASSY,AVIA,R/V,DTNT,A3 A3FE, A3RE, C1FE, TCFE

* 0033051 MIRROR ASSY,AVIA,R/V,DTNT,HTD,A3 A3FE, A3RE, C1FE, TCFE

* 0033052 MIRROR ASSY,AVIA,R/V,DTNT,SST,A3 A3FE, A3RE, C1FE, TCFE

* 0033053 MIRROR ASSY,AVIA,R/V,DTNT,HTD,SST, A3 A3FE, A3RE, C1FE, TCFE

* 0037258 MIRROR ASSY,AVIA,R/V,DTNT,HTD,R/C,A3 A3FE, A3RE, C1FE, TCFE

* 0045043 MIRROR ASSY,AVIA,R/V,DTNT,HTD,SST,R/C,A3 A3FE, A3RE, C1FE, TCFE

* 0082201 MIRROR ASSY,RHD,R/V,DTNT, A3 A3FE RH DRIVE ONLY

* 0082202 MIRROR ASSY,RHD,R/V,DTNT,HTD, A3 A3FE RH DRIVE ONLY

* 0084349 MIRROR ASSY,RHD,RV,DTNT,HTD,RMT CNTRL, A3FE RH DRIVE ONLY

* 0042386 MIRROR ASSY,R/V,AVIA,DTNT,US&LMTD CAN GMCV, SBCV-INTERNATIONAL

* 0042388 MIRROR ASSY,R/V,AVIA,DTN,HTD,US&LMTD GMCV, SBCV-INTERNATIONAL

* 0042389 MIRROR ASSY,R/V,AVIA,DTN,SST,US&LMTD GMCV, SBCV-INTERNATIONAL

* 0042390 MIRROR ASSY,R/V,AVIA,DTN,HTD,SST,US&LMT GMCV, SBCV-INTERNATIONAL

* 0037252 MIRROR ASSY,R/V,AVIA,DTN,HTD,R/C,US&LMT GMCV, SBCV-INTERNATIONAL

* 0042402 MIRROR ASSY,R/V,AVIA,DTN,HTD,SS,R/C, GMCV, SBCV-INTERNATIONAL

* 0072241 MIRROR ASSY,R/V,AVIA,DTNT,US&CAN SBCV-INTERNATIONAL 3300

* 0072242 MIRROR ASSY,R/V,AVIA,DTNT,HTD,US&CAN SBCV-INTERNATIONAL 3300

* 0072243 MIRROR ASSY,R/V,AVIA,DTNT,SST,US&CAN SBCV-INTERNATIONAL 3300

* 0072244 MIRROR ASSY,R/V,AVIA,DTNT,HTD,SST, SBCV-INTERNATIONAL 3300

* 0072245 MIRROR ASSY,R/V,AVIA,DTNT,R/C,US&CAN SBCV-INTERNATIONAL 3300

* 0072246 MIRROR ASSY,R/V,AVIA,DTNT,HTD,R/C,US&CAN SBCV-INTERNATIONAL 3300

* 0045006 MIRROR ASSY,AVIA,R/V,DTNT,US, FTLR SBCV-FREIGHTLINER

* 0045008 MIRROR ASSY,AVIA,R/V,DTNT,HTD,US, FTLR SBCV-FREIGHTLINER

* 0045009 MIRROR ASSY,AVIA,R/V,DTNT,SST,US, FTLR SBCV-FREIGHTLINER

* 0045010 MIRROR ASSY,AVIA,R/V,DTNT,HTD,SST,US, SBCV-FREIGHTLINER

* 0037257 MIRROR ASSY,AVIA,R/V,DTNT,HTD,R/C,US, SBCV-FREIGHTLINER

* 0045014 MIRROR ASSY,AVIA,R/V,DTNT,HTD,SST,R/C,US SBCV-FREIGHTLINER

1 0040766 MIRROR HEAD,DRIVER,AVIA,9X17,NONHEATED A3FE, A3RE, C1FE, TCFE

1 0039136 MIRROR HEAD,DRIVER,AVIA,9X17,HEATED A3FE, A3RE, C1FE, TCFE

1 0044671 MIRROR HEAD,DRIVER,AVIA,9X17,REMOTE, A3FE, A3RE, C1FE, TCFE

1 0040766 MIRROR HEAD,DRIVER,AVIA,9X17,NONHEATED GMCV, SBCV-INTERNATIONAL

1 0039136 MIRROR HEAD,DRIVER,AVIA,9X17,HEATED GMCV, SBCV-INTERNATIONAL

1 0044671 MIRROR HEAD,DRIVER,AVIA,9X17,REMOTE, GMCV, SBCV-INTERNATIONAL

SBCV-INTERNATIONAL 3300

10
To order, contact your Blue Bird Authorized Dealer

PageSet Number



Models: A3FE, A3RE, C1FE, GMCV, SBCV, TCFE
EXTERIOR
ROSCO AVIA, 9 X 17
DETENT

With Features: FEATURE 30483-08

Service Parts Catalog

Key PartNumber Qty Description Comment

390 Mirrors
Page Set PS0005033

1 MIRROR HEAD,DRIVER,AVIA,9X17,NON-HEATED

1 0039136 MIRROR HEAD,DRIVER,AVIA,9X17,HEATED SBCV-INTERNATIONAL 3300

1 MIRROR HEAD,DRIVER,AVIA,9X17,REMOTE SBCV-INTERNATIONAL 3300

1 MIRROR HEAD,DRIVER,AVIA,9X17,REMOTE SBCV-INTERNATIONAL 3300

1 0040766 MIRROR HEAD,DRIVER,AVIA,9X17,NONHEATED SBCV-FREIGHTLINER

1 0039136 MIRROR HEAD,DRIVER,AVIA,9X17,HEATED SBCV-FREIGHTLINER

1 0044671 MIRROR HEAD,DRIVER,AVIA,9X17,REMOTE, SBCV-FREIGHTLINER

1 0040767 MIRROR HEAD,PASSENGER,AVIA,9X17, A3FE, A3RE, C1FE, TCFE

1 0039135 MIRROR HEAD,PASSENGER,AVIA,9 X 17, A3FE, A3RE, C1FE, TCFE

1 0044672 MIRROR HEAD,PASSENGER,AVIA,9X17,REMOTE, A3FE, A3RE, C1FE, TCFE

1 MIRROR HEAD,PASSENGER,AVIA,9X17,NON- A3FE RH DRIVE ONLY

1 MIRROR HEAD,PASSENGER,AVIA,9X17,HEATED A3FE RH DRIVE ONLY

1 MIRROR HEAD,PASSENGER,AVIA,9X17,REMOTE A3FE RH DRIVE ONLY

1 0040767 MIRROR HEAD,PASSENGER,AVIA,9X17, GMCV, SBCV-INTERNATIONAL

1 0039135 MIRROR HEAD,PASSENGER,AVIA,9 X 17, GMCV, SBCV-INTERNATIONAL

1 0040767 MIRROR HEAD,PASSENGER,AVIA,9X17, GMCV, SBCV-INTERNATIONAL

1 0039135 MIRROR HEAD,PASSENGER,AVIA,9 X 17, GMCV, SBCV-INTERNATIONAL

1 0044672 MIRROR HEAD,PASSENGER,AVIA,9X17,REMOTE, GMCV, SBCV-INTERNATIONAL

1 0044672 MIRROR HEAD,PASSENGER,AVIA,9X17,REMOTE, GMCV, SBCV-INTERNATIONAL

1 MIRROR HEAD,PASSENGER,AVIA,9X17,NON- SBCV-INTERNATIONAL 3300

1 0039135 MIRROR HEAD,PASSENGER,AVIA,9 X 17, SBCV-INTERNATIONAL 3300

1 MIRROR HEAD,PASSENGER,AVIA,9X17,REMOTE SBCV-INTERNATIONAL 3300

1 0040767 MIRROR HEAD,PASSENGER,AVIA,9X17, SBCV-FREIGHTLINER

1 0039135 MIRROR HEAD,PASSENGER,AVIA,9 X 17, SBCV-FREIGHTLINER

1 0044672 MIRROR HEAD,PASSENGER,AVIA,9X17,REMOTE, SBCV-FREIGHTLINER

NI 0041787 GLASS,MIRROR,AVIA,CONVEX,NON-HEATED

NI 0041788 GLASS,MIRROR,AVIA,CONVEX,HEATED

NI 0041785 GLASS,MIRROR,AVIA,FLAT,NON-HEATED

NI 0041786 GLASS,MIRROR,AVIA,FLAT,HEATED

NI 0053363 CARRIER ASSY,MIRROR,MANUAL,AVIA,FLAT

NI 0048113 CARRIER ASSY,MIRROR,MANUAL,AVIA,CONVEX

NI 0053365 CARRIER & MOTOR ASSY,REMOTE,MIRROR,

NI 0053370 CARRIER & MOTOR ASSY,REMOTE,MIRROR,

A3FE, A3RE, C1FE, TCFE

10
To order, contact your Blue Bird Authorized Dealer

PageSet Number



Models: A3FE, A3RE, C1FE, GMCV, SBCV, TCFE
EXTERIOR
ROSCO AVIA, 9 X 17
DETENT

With Features: FEATURE 30483-08

Service Parts Catalog

Key PartNumber Qty Description Comment

390 Mirrors
Page Set PS0005033

2 0045167 ARM ASSY,MIRROR,PASS,W/BRACE,NON-

2 0039133 ARM ASSY,MIRROR,PASS,W/BRACE,HEATED, A3FE, A3RE, C1FE, TCFE

2 ARM ASSY,PASSENGER,STAINLESS STEEL A3FE, A3RE, C1FE, TCFE

2 ARM ASSY,PASSENGER,STAINLESS STEEL, A3FE, A3RE, C1FE, TCFE

2 0045084 ARM ASSY,MIRROR,AVIA,DTNT,PASS,W/BRACE, A3FE, A3RE, C1FE, TCFE

2 ARM ASSY,PASSENGER,REMOTE CONTROL, A3FE, A3RE, C1FE, TCFE

2 ARM ASSY,PASSENGER,NON-HEATED A3FE RH DRIVE ONLY

2 ARM ASSY,PASSENGER,HEATED A3FE RH DRIVE ONLY

2 ARM ASSY,PASSENGER,REMOTE CONTROL, A3FE RH DRIVE ONLY

2 ARM ASSY,PASSENGER,NON-HEATED GMCV, SBCV-INTERNATIONAL

2 ARM ASSY,PASSENGER,HEATED GMCV, SBCV-INTERNATIONAL

2 ARM ASSY,PASSENGER,STAINLESS STEEL GMCV, SBCV-INTERNATIONAL

2 ARM ASSY,PASSENGER,STAINLESS STEEL, GMCV, SBCV-INTERNATIONAL

2 0045084 ARM ASSY,MIRROR,AVIA,DTNT,PASS,W/BRACE, GMCV, SBCV-INTERNATIONAL

2 ARM ASSY,PASSENGER,REMOTE CONTROL, GMCV, SBCV-INTERNATIONAL

2 ARM ASSY,PASSENGER,NON-HEATED SBCV-INTERNATIONAL 3300

2 0039133 ARM ASSY,MIRROR,PASS,W/BRACE,HEATED, SBCV-INTERNATIONAL 3300

2 ARM ASSY,PASSENGER,STAINLESS STEEL SBCV-INTERNATIONAL 3300

2 ARM ASSY,PASSENGER,STAINLESS STEEL, SBCV-INTERNATIONAL 3300

2 ARM ASSY,PASSENGER,REMOTE CONTROL SBCV-INTERNATIONAL 3300

2 ARM ASSY,PASSENGER,REMOTE CONTROL, SBCV-INTERNATIONAL 3300

2 ARM ASSY,PASSENGER,NON-HEATED SBCV-FREIGHTLINER

2 ARM ASSY,PASSENGER,HEATED SBCV-FREIGHTLINER

2 ARM ASSY,PASSENGER,STAINLESS STEEL SBCV-FREIGHTLINER

2 ARM ASSY,PASSENGER,STAINLESS STEEL, SBCV-FREIGHTLINER

2 0048191 ARM ASSY,MIRROR,PASS,BRKAWAY,REMOTE, SBCV-FREIGHTLINER

2 ARM ASSY,PASSENGER,REMOTE CONTROL, SBCV-FREIGHTLINER

3 0045179 ARM ASSY,MIRROR,DRVR,NON-HEATED,AVIA A3FE, A3RE, C1FE, TCFE

3 0039134 ARM ASSY,MIRROR,DRVR,HEATED,AVIA A3FE, A3RE, C1FE, TCFE

3 ARM ASSY,DRIVER,STAINLESS STEEL A3FE, A3RE, C1FE, TCFE

3 ARM ASSY,DRIVER,STAINLESS STEEL, HEATED A3FE, A3RE, C1FE, TCFE

3 0045085 ARM ASSY,MIRROR,AVIA,DTNT,DRVR,REMOTE, A3FE, A3RE, C1FE, TCFE

3 ARM ASSY,DRIVER,REMOTE CONTROL, HEATED, A3FE, A3RE, C1FE, TCFE

A3FE RH DRIVE ONLY

10
To order, contact your Blue Bird Authorized Dealer

PageSet Number



Models: A3FE, A3RE, C1FE, GMCV, SBCV, TCFE
EXTERIOR
ROSCO AVIA, 9 X 17
DETENT

With Features: FEATURE 30483-08

Service Parts Catalog

Key PartNumber Qty Description Comment

390 Mirrors
Page Set PS0005033

3 ARM ASSY,DRIVER,NON-HEATED

3 ARM ASSY,DRIVER,HEATED A3FE RH DRIVE ONLY

3 ARM ASSY,DRIVER,REMOTE CONTROL, HEATED A3FE RH DRIVE ONLY

GMCV, SBCV-INTERNATIONAL

3 ARM ASSY,DRIVER,NON-HEATED GMCV, SBCV-INTERNATIONAL

3 ARM ASSY,DRIVER,HEATED GMCV, SBCV-INTERNATIONAL

3 ARM ASSY,DRIVER,STAINLESS STEEL GMCV, SBCV-INTERNATIONAL

3 ARM ASSY,DRIVER,STAINLESS STEEL, HEATED GMCV, SBCV-INTERNATIONAL

3 0045085 ARM ASSY,MIRROR,AVIA,DTNT,DRVR,REMOTE, GMCV, SBCV-INTERNATIONAL

3 ARM ASSY,DRIVER,REMOTE CONTROL, HEATED, GMCV, SBCV-INTERNATIONAL

3 0039134 ARM ASSY,MIRROR,DRVR,HEATED,AVIA SBCV-INTERNATIONAL 3300

3 ARM ASSY,DRIVER,STAINLESS STEEL SBCV-INTERNATIONAL 3300

3 ARM ASSY,DRIVER,STAINLESS STEEL, HEATED SBCV-INTERNATIONAL 3300

3 ARM ASSY,DRIVER,REMOTE CONTROL SBCV-INTERNATIONAL 3300

3 ARM ASSY,DRIVER,REMOTE CONTROL, HEATED SBCV-INTERNATIONAL 3300

3 ARM ASSY,DRIVER,NON-HEATED SBCV-FREIGHTLINER

3 ARM ASSY,DRIVER,HEATED SBCV-FREIGHTLINER

3 ARM ASSY,DRIVER,STAINLESS STEEL SBCV-FREIGHTLINER

3 ARM ASSY,DRIVER,STAINLESS STEEL, HEATED SBCV-FREIGHTLINER

3 0048192 ARM ASSY,MIRROR,BRKAWAY,REMOTE,HTD, SBCV-FREIGHTLINER

3 ARM ASSY,DRIVER,REMOTE CONTROL, HEATED, SBCV-FREIGHTLINER

4 0044090 BASE,MTG,MIRROR,NARROW,DRIVER,

5 0040765 BRACE,TELESCOPIC,BREAKAWAY,W/BRACKETS

6 0043205 BRACKET,MTG,MIRROR BRACE,PASSENGER 

7 0079314 10 SCREW,5/16-18 X 1,D,HEX,WASH,STAINLESS 

8 2 BOLT, HEX HEAD, 5/16-18 X 1, STAINLESS 

9 4 WASHER, FLAT, .750 O.D. X .343 I.D., 

10 2 WASHER, FLAT, .750 O.D. X .343 I.D., NYLON

11 WASHER, FLAT, 1 O.D. X .437 I.D., YELLOW 

12 2 NUT, HEX HEAD, 5/16-18, NYLON INSERT, 

13 CLAMP, TUBE, 1.00 ID TRIPOD, STAINLESS 

NI 0031728 2 SWITCH,MIRROR,W/HARNESS

10
To order, contact your Blue Bird Authorized Dealer

PageSet Number



Models: A3FE, A3RE, C1FE, GMCV, SBCV, TCFE
EXTERIOR
ROSCO AVIA, 9 X 17
NON-DETENT

With Features: FEATURE 30483-06

Service Parts Catalog

Key PartNumber Qty Description Comment

390 Mirrors
Page Set PS0005032

11
To order, contact your Blue Bird Authorized Dealer

PageSet Number



Models: A3FE, A3RE, C1FE, GMCV, SBCV, TCFE
EXTERIOR
ROSCO AVIA, 9 X 17
NON-DETENT

With Features: FEATURE 30483-06

Service Parts Catalog

Key PartNumber Qty Description Comment

390 Mirrors
Page Set PS0005032

* 0037248 MIRROR ASSY,AVIA,R/V,US&LMTD CAN WB,CV GMCV, SBCV INTERNATIONAL

* 0037249 MIRROR ASSY,AVIA,R/V,HTD,US&LMTD CAN GMCV, SBCV INTERNATIONAL

* 0037250 MIRROR ASSY,AVIA,R/V,SST,US&LMTD CAN GMCV, SBCV INTERNATIONAL

* 0037251 MIRROR ASSY,AVIA,R/V,HTD,SST,US&LMTD GMCV, SBCV INTERNATIONAL

* 0037253 MIRROR ASSY,AVIA,R/V,US, FTLR SBCV FREIGHTLINER

* 0037254 MIRROR ASSY,AVIA,R/V,HTD,US, FTLR SBCV FREIGHTLINER

* 0037255 MIRROR ASSY,AVIA,R/V,SST,US, FTLR SBCV FREIGHTLINER

* 0037256 MIRROR ASSY,AVIA,R/V,HTD,SST,US, FTLR SBCV FREIGHTLINER

* 0033044 MIRROR ASSY,AVIA,R/V,A3 A3FE/RE, C1FE, TCFE/RE

* 0033045 MIRROR ASSY,AVIA,R/V,HTD,TC A3FE/RE, C1FE, TCFE/RE

* 0033047 MIRROR ASSY,AVIA,R/V,SST, TC TCFE

* 0033048 MIRROR ASSY,AVIA,R/V,HTD,SST,TC TCFE

1 0040766 MIRROR HEAD,DRIVER,AVIA,9X17,NONHEATED GMCV, SBCV INTERNATIONAL, 
SBCV FREIGHTLINER, TCFE

1 0039136 MIRROR HEAD,DRIVER,AVIA,9X17,HEATED GMCV, SBCV INTERNATIONAL, 
SBCV FREIGHTLINER, TCFE

1 MIRROR HEAD,DRIVER,STAINLESS STEEL, NON- GMCV, SBCV INTERNATIONAL, 
SBCV FREIGHTLINER, TCFE

1 MIRROR HEAD,DRIVER,STAINLESS STEEL, GMCV, SBCV INTERNATIONAL, 
SBCV FREIGHTLINER, TCFE

1 0040767 MIRROR HEAD,PASSENGER,AVIA,9X17, GMCV, SBCV INTERNATIONAL, 
SBCV FREIGHTLINER, TCFE

1 0039135 MIRROR HEAD,PASSENGER,AVIA,9 X 17, GMCV, SBCV INTERNATIONAL, 
SBCV FREIGHTLINER, TCFE

1 MIRROR HEAD,PASSENGER,STAINLESS STEEL

1 MIRROR HEAD,PASSENGER,STAINLESS STEEL,

NI 0049940 HOUSING,MIRROR HEAD,DRIVER,AVIA

NI 0049941 HOUSING,MIRROR HEAD,PASSENGER,AVIA

NI 0053510 PLUG,PLASTIC,AVIA MIR.HD(SET:2 RH & 2 LH) SET CONTAINS 2 RH & 2 LH 
PLUGS

NI 0041787 GLASS,MIRROR,AVIA,CONVEX,NON-HEATED

NI 0041788 GLASS,MIRROR,AVIA,CONVEX,HEATED

NI 0041785 GLASS,MIRROR,AVIA,FLAT,NON-HEATED

NI 0041786 GLASS,MIRROR,AVIA,FLAT,HEATED

NI 0053363 CARRIER ASSY,MIRROR,MANUAL,AVIA,FLAT

NI 0048113 CARRIER ASSY,MIRROR,MANUAL,AVIA,CONVEX

NI 0053365 CARRIER & MOTOR ASSY,REMOTE,MIRROR,

NI 0053370 CARRIER & MOTOR ASSY,REMOTE,MIRROR,

11
To order, contact your Blue Bird Authorized Dealer

PageSet Number



Models: A3FE, A3RE, C1FE, GMCV, SBCV, TCFE
EXTERIOR
ROSCO AVIA, 9 X 17
NON-DETENT

With Features: FEATURE 30483-06

Service Parts Catalog

Key PartNumber Qty Description Comment

390 Mirrors
Page Set PS0005032

2 0046083 ARM ASSY,MIRROR,PASS,AVIA,REARVIEW" GMCV, SBCV INTERNATIONAL

2 0044433 ARM ASSY,MIRROR,PASSENGER,HTD, SBCV FREIGHTLINER

2 0117056 ARM,MIRROR,FIXED,AVIA,PASSENGER,3 HOLE A3FE/RE, C1FE, TCFE/RE

2 0117057 ARM,MIRROR,FIXED,AVIA,PASSENGER,3 HOLE A3FE/RE, C1FE, TCFE/RE

2 0043203 ARM,MIRROR,FIXED,AVIA,PASSENGER,4 HOLE A3FE/RE, C1FE, TCFE/RE

2 0046089 ARM ASSY,MIRROR,PASS,AVIA,W/HTR GMCV, SBCV INTERNATIONAL

2 0046089 ARM ASSY,MIRROR,PASS,AVIA,W/HTR SBCV FREIGHTLINER

2 ARM ASSY,MIRROR,PASSENGER TCFE

2 0066066 ARM ASSY,MIRROR,PASS,W/BRACE,SS,HTD, GMCV, SBCV INTERNATIONAL

2 ARM ASSY,MIRROR,PASSENGER SBCV FREIGHTLINER

2 0054359 ARM ASSY,MIRROR,PASS,HEATED,STAINLESS TCFE

3 0044687 ARM ASSY,MIRROR,DRIVER,SWIVEL MTG GMCV, SBCV INTERNATIONAL, 
TCFE

3 ARM ASSY,MIRROR,DRIVER SBCV FREIGHTLINER

3 0046087 ARM ASSY,MIRROR,DRVR,HEATED,AVIA GMCV, SBCV INTERNATIONAL, 
TCFE

3 ARM ASSY,MIRROR,DRVR,HEATED,AVIA SBCV FREIGHTLINER

3 ARM ASSY,MIRROR,DRVR,SS,NON-HEATED GMCV, SBCV INTERNATIONAL

3 ARM ASSY,MIRROR,DRVR,SS,NON-HEATED SBCV FREIGHTLINER

3 ARM ASSY,MIRROR,DRVR,SS,NON-HEATED TCFE

3 0066065 ARM ASSY,MIRROR,DRVR,SS,HEATED,AVIA, GMCV, SBCV INTERNATIONAL

3 ARM ASSY,MIRROR,DRIVER,HEATED,STAINLESS SBCV FREIGHTLINER

3 0054358 ARM ASSY,MIRROR,DRVR,HEATED,STAINLESS TCFE

4 BRACKET, AVIASTYLE, BLACK

5 0043204 BRACE,MIRROR,FIXED,20",PASSENGER,BLACK

5 0072057 BRACE,MIRROR,FIXED,20",STAINLESS STEEL,

NI 0043205 BRACKET,MTG,MIRROR BRACE,PASSENGER 

NI BRACKET,MTG,MIRROR BRACE,PASSENGER 

7 2000198 6 SCREW,5/16-18 X 1,D,HEX HD,YEL ZN DICH

8 BOLT, HEX HEAD, 5/16-18 X 1, STAINLESS 

9 2 WASHER, FLAT, .750 O.D. X .343 I.D., 

10 NUT, HEX HEAD, 5/16-18, NYLON INSERT, 

11 1386663 CLAMP,1.00 OD,WIDE ANGLE MIRROR & RIGHT

11
To order, contact your Blue Bird Authorized Dealer

PageSet Number



Models: A3FE, A3RE, TCFE
EXTERIOR
ROSCO CROSSVIEW, MINI HAWKEYE, FIXED
FOR GEORGIA ONLY

With Features: FEATURE 30484-07

Service Parts Catalog

Key PartNumber Qty Description Comment

390 Mirrors
Page Set PS0005039

12
To order, contact your Blue Bird Authorized Dealer

PageSet Number



Models: A3FE, A3RE, TCFE
EXTERIOR
ROSCO CROSSVIEW, MINI HAWKEYE, FIXED
FOR GEORGIA ONLY

With Features: FEATURE 30484-07

Service Parts Catalog

Key PartNumber Qty Description Comment

390 Mirrors
Page Set PS0005039

* 0033036 MIRROR ASSY,ROSCO,C/V,M-H,FXD, TC/A3" FEATURE 30484-07. NON-HEATED

* 0033037 MIRROR ASSY,ROSCO,C/V,M-H,FXD,HTD, TC/A3 FEATURE 30484-07 WITH 
FEATURE 30482. HEATED

NI MIRROR HEAD, RH GLASS ONLY FOR THE MIRROR 
HEAD IS NOT AVAILABLE 
SEPARATELY.

NI MIRROR HEAD, LH GLASS ONLY FOR THE MIRROR 
HEAD IS NOT AVAILABLE 
SEPARATELY.

1 POST, MIRROR, .75 OD, FIXED, BLACK, RH

1 POST, MIRROR, .75 OD, FIXED, BLACK, LH

2 BRACKET, MOUNTING, BLACK

3 MOUNT, CURVED FOOT, BLACK

4 BRACE, ARM, .75 OD, BLACK

5 CLAMP, TUBE, .75 ID TRIPOD, STAINLESS 

6 BOLT, 5/16-18 X 3/4, STAINLESS STEEL

7 NUT, HEX HEAD, 5/16-18, NYLON INSERT, 

8 NYLON FLAT WASHER

9 SCREW, #14 X 3/4 LG, PAN HEAD, STAINLESS

12
To order, contact your Blue Bird Authorized Dealer

PageSet Number



Models: A3FE, A3RE, C1FE, TCFE
EXTERIOR
ROSCO CROSSVIEW, MINI-HAWKEYE

With Features: FEATURE 30484-05

Service Parts Catalog

Key PartNumber Qty Description Comment

390 Mirrors
Page Set PS0005034

13
To order, contact your Blue Bird Authorized Dealer

PageSet Number



Models: A3FE, A3RE, C1FE, TCFE
EXTERIOR
ROSCO CROSSVIEW, MINI-HAWKEYE

With Features: FEATURE 30484-05

Service Parts Catalog

Key PartNumber Qty Description Comment

390 Mirrors
Page Set PS0005034

* 0033032 MIRROR ASSY,ROSCO,C/V,M-H,A3 FEATURE 30484-05. NON-HEATED

* 0033033 MIRROR ASSY,ROSCO,C/V,M-H,HTD,TC/A3 FEATURE 30484-05 WITH 
FEATURE 30482. HEATED

* 0033034 MIRROR ASSY,ROSCO,C/V,M-H,SST, A3 FEATURE 30484-05. STAINLESS 
STEEL, NON-HEATED

* 0033035 MIRROR ASSY,ROSCO,C/V,M-H,SST,HTD,A3 FEATURE 30484-05 WITH 
FEATURE 30482. STAINLESS 
STEEL, HEATED

1 0026176 ARM,MIRROR,W/BRACE,LH OR RH CONSISTS OF KEY NUMBERS. 
1,4,5,7,8 & 9

1 0042087 ARM,MIRROR,W/BRACE,LH & RH,STAINLESS CONSISTS OF KEY NUMBERS. 
1,4,5,7,8 & 9

2 0040763 MIRROR HEAD,TINTED,M/H,CROSSVIEW, GLASS ONLY FOR MIRROR HEAD 
IS NOT AVAILABLE SEPARATELY

2 0040076 MIRROR HEAD,TINTED,M/H,CROSSVIEW, FEATURE 30482. GLASS ONLY 
FOR MIRROR HEAD IS NOT 
AVAILABLE SEPARATELY

3 0026177 BASE,MOUNTING,LH OR RH

4 MOUNT, CURVED FOOT, BLACK

5 0026176 ARM,MIRROR,W/BRACE,LH OR RH CONSISTS OF KEY NUMBERS. 
1,4,5,7,8 & 9.

5 0042087 ARM,MIRROR,W/BRACE,LH & RH,STAINLESS CONSISTS OF KEY NUMBERS. 
1,4,5,7,8 & 9.

6 CLAMP, TUBE, .75 ID TRIPOD, STAINLESS 

7 BOLT, 5/16-18 X 3/4, STAINLESS STEEL

8 NUT, HEX HEAD, 5/16-18, NYLON INSERT, 

9 NYLON FLAT WASHER

10 0864579 6 SCREW,10-16 X 3/4,AB,PH1,PAN HD,SST 

11 LOCKWASHER, SPLIT RING, 3/8

12 NUT, ACORN, 3/8-16

13
To order, contact your Blue Bird Authorized Dealer

PageSet Number



Models: A3FE, A3RE, C1FE, CSFE, CSRE, GMCV, SBCV, TCFE
EXTERIOR
ROSCO EUROSTYLE

With Features: FEATURE 30483-04 IS FOR MIRRORS FOR NON-SCHOOL BUS UNITS.

FEATURE 30483-05, -09, -12, -16 IS FOR MIRRORS FOR SCHOOL BUS UNITS

Service Parts Catalog

Key PartNumber Qty Description Comment

390 Mirrors
Page Set PS0005005

14
To order, contact your Blue Bird Authorized Dealer

PageSet Number



Models: A3FE, A3RE, C1FE, CSFE, CSRE, GMCV, SBCV, TCFE
EXTERIOR
ROSCO EUROSTYLE

With Features: FEATURE 30483-04 IS FOR MIRRORS FOR NON-SCHOOL BUS UNITS.

FEATURE 30483-05, -09, -12, -16 IS FOR MIRRORS FOR SCHOOL BUS UNITS

Service Parts Catalog

Key PartNumber Qty Description Comment

390 Mirrors
Page Set PS0005005

0023011 MIRROR ASSY,EURO,RVW,8X15LH,8X15RH FEATURE 30483-04 (NON-
SCHOOL BUS)

0023013 MIRROR ASSY,EURO,RVW,HTD,8X15LH,8X15RH FEATURE 30483-04 (NON-
SCHOOL BUS)WITH FEATURE 
30482.

0003710 MIRROR ASSY,EURO,RVW,8X15LH,8X17RH FEATURE 30483-05 (SCHOOL 
BUS)

0003711 MIRROR ASSY,EURO,RVW,HTD,8X15LH,8X17RH FEATURE 30483-05 (SCHOOL 
BUS) WITH  FEATURE 30482.

0084384 MIRROR ASSY,R/V,ROSCO EURO,R/C,SS,N/H, FEATURE 30483-12

0103346 MIRROR ASSY,R/V,ROSCO EURO,R/C,SS,HTD, FEATURE 30483-12 WITH 
FEATURE 30482.

0100687 MIRROR ASSY,R/V,EURO,N/H,8X15LH,8X17RH FEATURE 30483-16

0100688 MIRROR ASSY,R/V,EURO,HTD,8X15LH,8X17RH FEATURE 30483-16 WITH 
FEATURE 30482

0104995 MIRROR ASSY,R/V,EURO,DT,HTD,R/C,SS,LL FEATURE 30483-09 (LAIDLAW 
ALASKA UNITS)

1 0044741 MIRROR HEAD,OVERHANG,EURO,MANUAL,NON- FEATURE 30483-04

0038237 GLASS,MIRROR,CONVEX,EURO,7 X 4(8X15 

0038238 GLASS,MIRROR,FLAT,EURO,7X9.5(8X15 

1 0023578 MIRROR HEAD,OVERHANG,EURO,MANUAL, FEATURE 30483-04

0039005 GLASS,MIRROR,CONVEX,HEATED,7 X 4(8X15 

0039002 GLASS,MIRROR,FLAT,HEATED,7 X 9.5(8X15 

1 0044741 MIRROR HEAD,OVERHANG,EURO,MANUAL,NON- FEATURE 30483-05

0038237 GLASS,MIRROR,CONVEX,EURO,7 X 4(8X15 

0038238 GLASS,MIRROR,FLAT,EURO,7X9.5(8X15 

1 0023578 MIRROR HEAD,OVERHANG,EURO,MANUAL, FEATURE 30483-05

0039005 GLASS,MIRROR,CONVEX,HEATED,7 X 4(8X15 

0039002 GLASS,MIRROR,FLAT,HEATED,7 X 9.5(8X15 

1 0021728 MIRROR HEAD,NON-HEATED,REMOTE, FEATURE 30483-16

0038237 GLASS,MIRROR,CONVEX,EURO,7 X 4(8X15 

0038238 GLASS,MIRROR,FLAT,EURO,7X9.5(8X15 

1 0019556 MIRROR ASSY,HEATED,REMOTE, FEATURE 30483-16 WITH 
FEATURE 30482

0039002 GLASS,MIRROR,FLAT,HEATED,7 X 9.5(8X15 

0039005 GLASS,MIRROR,CONVEX,HEATED,7 X 4(8X15 

2 0044741 MIRROR HEAD,OVERHANG,EURO,MANUAL,NON- FEATURE 30483-04

0038237 GLASS,MIRROR,CONVEX,EURO,7 X 4(8X15 

0038238 GLASS,MIRROR,FLAT,EURO,7X9.5(8X15 

14
To order, contact your Blue Bird Authorized Dealer

PageSet Number



Models: A3FE, A3RE, C1FE, CSFE, CSRE, GMCV, SBCV, TCFE
EXTERIOR
ROSCO EUROSTYLE

With Features: FEATURE 30483-04 IS FOR MIRRORS FOR NON-SCHOOL BUS UNITS.

FEATURE 30483-05, -09, -12, -16 IS FOR MIRRORS FOR SCHOOL BUS UNITS

Service Parts Catalog

Key PartNumber Qty Description Comment

390 Mirrors
Page Set PS0005005

2 0023578 MIRROR HEAD,OVERHANG,EURO,MANUAL, FEATURE 30483-04

0039005 GLASS,MIRROR,CONVEX,HEATED,7 X 4(8X15 

0039002 GLASS,MIRROR,FLAT,HEATED,7 X 9.5(8X15 

2 0044742 MIRROR HEAD,HAND ADJ,PASS,7X9.5 FLAT & FEATURE 30483-05

0038239 GLASS,MIRROR,CONVEX,7 X 6(8X17 HOUSING)

0038236 GLASS,MIRROR,FLAT,7 X 9.5(8X17 HOUSING)

2 0023579 MIRROR HEAD,HEATED,7X9.5 FLAT & 7X6 FEATURE 30483-05

0039007 GLASS,MIRROR,CONVEX,HEATED,7 X 6(8X17 

0039001 GLASS,MIRROR,FLAT,HEATED,7 X 9.5(8X17 

2 0026206 MIRROR HEAD,NON-HEATED,REMOTE,7X17, FEATURE 30483-12,-16

0038239 GLASS,MIRROR,CONVEX,7 X 6(8X17 HOUSING)

0038236 GLASS,MIRROR,FLAT,7 X 9.5(8X17 HOUSING)

2 0020406 MIRROR ASSY,HEATED,REMOTE, FEATURE 30483-16 WITH 
FEATURE 30482

0039007 GLASS,MIRROR,CONVEX,HEATED,7 X 6(8X17 

0039001 GLASS,MIRROR,FLAT,HEATED,7 X 9.5(8X17 

3 0038040 ARM ASSY,MIRROR,DRVR,EURO

3 0045186 ARM ASSY,MIRROR,DRVR,EURO,W/HEATER 

3 0019558 ARM ASSY,MIRROR,DRVR,EURO,

4 0045187 ARM ASSY,MIRROR,PASS,EURO,HAND 

4 0098326 ARM ASSY,MIRROR,PASS,EURO,HEATED,W/2 

4 0019557 ARM ASSY,MIRROR,PASS,EURO,

NI 0079314 SCREW,5/16-18 X 1,D,HEX,WASH,STAINLESS USED TO MOUNT MIRROR ARMS 
TO BODY.

NI 0105463 SCREW,5/16-18 X 1.5,F,HEX HD,STAINLESS ON MIRROR ASSEMBLIES 
0100687, 0100688 & 0104995 
THE LEFT HAND MIRROR ARM 
SHALL BE MOUNTED WITH 
0105463 IN PLACE OF THE 
0079314 SCREWS.

NI 0031728 SWITCH,MIRROR,W/HARNESS FEATURE 30483-16

14
To order, contact your Blue Bird Authorized Dealer

PageSet Number



Models: A3FE, A3RE, C1FE, TCFE
EXTERIOR
ROSCO MINI-HAWKEYE CROSSVIEW & AVIA IDENTIFICATION

With Features: FEATURE 30483-06, -08 & FEATURE 30484-05

Service Parts Catalog

Key PartNumber Qty Description Comment

390 Mirrors
Page Set PS0005031

15
To order, contact your Blue Bird Authorized Dealer

PageSet Number



Models: A3FE, A3RE, C1FE, TCFE
EXTERIOR
ROSCO MINI-HAWKEYE CROSSVIEW & AVIA IDENTIFICATION

With Features: FEATURE 30483-06, -08 & FEATURE 30484-05

Service Parts Catalog

Key PartNumber Qty Description Comment

390 Mirrors
Page Set PS0005031

1* 0033044 MIRROR ASSY,AVIA,R/V,A3 FEATURE 30483-06.

1* 0033045 MIRROR ASSY,AVIA,R/V,HTD,TC FEATURE 30483-06.

1* 0033047 MIRROR ASSY,AVIA,R/V,SST, TC FEATURE 30483-06.

1* 0033048 MIRROR ASSY,AVIA,R/V,HTD,SST,TC FEATURE 30483-06.

1* 0033050 MIRROR ASSY,AVIA,R/V,DTNT,A3 FEATURE 30483-08.

1* 0033051 MIRROR ASSY,AVIA,R/V,DTNT,HTD,A3 FEATURE 30483-08.

1* 0033052 MIRROR ASSY,AVIA,R/V,DTNT,SST,A3 FEATURE 30483-08.

1* 0033053 MIRROR ASSY,AVIA,R/V,DTNT,HTD,SST, A3 FEATURE 30483-08.

1* 0037258 MIRROR ASSY,AVIA,R/V,DTNT,HTD,R/C,A3 FEATURE 30483-08.

2* 0033032 MIRROR ASSY,ROSCO,C/V,M-H,A3 FEATURE 30484-05.

2* 0033033 MIRROR ASSY,ROSCO,C/V,M-H,HTD,TC/A3 FEATURE 30484-05.

2* 0033034 MIRROR ASSY,ROSCO,C/V,M-H,SST, A3 FEATURE 30484-05.

2* 0033035 MIRROR ASSY,ROSCO,C/V,M-H,SST,HTD,A3 FEATURE 30484-05.

15
To order, contact your Blue Bird Authorized Dealer

PageSet Number



Models: A3FE, A3RE, AAFE, AARE, TCFE, TCRE, TSFE
EXTERIOR
SAFETY CROSS
DRIVER AND PASSENGER SIDE

With Features: FEATURE 30484-03, -04

Service Parts Catalog

Key PartNumber Qty Description Comment

390 Mirrors
Page Set PS0005021

16
To order, contact your Blue Bird Authorized Dealer

PageSet Number



Models: A3FE, A3RE, AAFE, AARE, TCFE, TCRE, TSFE
EXTERIOR
SAFETY CROSS
DRIVER AND PASSENGER SIDE

With Features: FEATURE 30484-03, -04

Service Parts Catalog

Key PartNumber Qty Description Comment

390 Mirrors
Page Set PS0005021

0001776 MIRROR ASSY,SAFETY CROSS,RH & LH,TC/AA FEATURE 30484 -03

0001784 MIRROR ASSY,SAFETY CROSS,RH & LH,HTD, FEATURE 30484 -03 WITH 
FEATURE 30482 -01 OR WITH 
OPTION 22292. HEATED

0001792 MIRROR ASSY,SAFETY CROSS,RH & LH,SS, FEATURE 30484 -04. STAINLESS
STEEL

0001800 MIRROR ASSY,SAFETY CROSS,RH & LH,SS, FEATURE 30484 -04 WITH 
FEATURE 30482 -01 OR WITH 
OPTION 22292. HEATED

1 POST, MIRROR, SAFETY CROSS, 14 GA, 1 OD

2 0019838 MIRROR HEAD,NON-HEATED,SAFETY CROSS FEATURE 30484 -03

2 0031961 MIRROR HEAD,HEATED,SAFETY CROSS FEATURE 30484-03

3 6 SCREW, #10 X 3/4 LG, PAN HEAD, STAINLESS

4 CLAMP, TUBE, 1 ID TRIPOD, STAINLESS STEEL

5 2 BOLT, 5/16 - 18 X 3/4, STAINLESS STEEL

6 2 NUT, HEX, FLANGE, 5/16 - 18, STAINLESS 

7 BRACKET, MTG

8 BRACE, MIRROR, 9 IN.

9 1453752 MOUNT,BRACE,CURVED FOOT,MIRROR

16
To order, contact your Blue Bird Authorized Dealer

PageSet Number



Models: AAFE, AARE, A3FE, A3RE, CSFE, CSRE, GMCV, MBWB, SBCV, TCEV, TCFE, TCRE,
TSFE

INTERIOR
10 X 30

With Features: OPTION 22258, 22263
To BSN B10097194 B20097244 F10050449 F20050479 L10083419

Service Parts Catalog

Key PartNumber Qty Description Comment

390 Mirrors
Page Set PS0004981

17
To order, contact your Blue Bird Authorized Dealer

PageSet Number



Models: AAFE, AARE, A3FE, A3RE, CSFE, CSRE, GMCV, MBWB, SBCV, TCEV, TCFE, TCRE,
TSFE

INTERIOR
10 X 30

With Features: OPTION 22258, 22263
To BSN B10097194 B20097244 F10050449 F20050479 L10083419

Service Parts Catalog

Key PartNumber Qty Description Comment

390 Mirrors
Page Set PS0004981

1 2178150 MIRROR,INTERIOR,10 X 30,NON-GLARE OPTION 22258. NON-GLARE

1 1951557 MIRROR,INTERIOR,10 X 30,CLEAR OPTION 22263. CLEAR WITH 
PADDED EDGES

2 1402270 BRACKET,MTG,MIR,10 X 30,LH,CONV CANNOT BE USED WITH OPT. 
3052, 3065 (DEST. SIGN); SEE 
KEY #5

3 1402288 BRACKET,MTG,MIR,10 X 30,RH,CONV CANNOT BE USED WITH OPT. 
3052, 3065 (DEST. SIGN); SEE 
KEY #5

4 1589530 SCREW,1/4-14 X 3/4,AB,PH1,PAN HD,YEL ZN

5 1752294 BRACKET ASSY,MTG,HEAVY DUTY,I/S MIRROR OPT. 22258 OR 22263 W/ OPT. 
3052 OR 3065 (DESTINATION 
SIGN)

NI 0854406 CAPSCREW,HEX HD,5/16-18 X 1,GR8,YEL ZN 

17
To order, contact your Blue Bird Authorized Dealer

PageSet Number



Models: AAFE, AARE, A3FE, A3RE, C1FE, CSFE, CSRE, GMCV, GPWB, MBWB, SBCV, TCFE,
TCRE, VCTA

INTERIOR
6 X 16 & 6 X 30

Service Parts Catalog

Key PartNumber Qty Description Comment

390 Mirrors
Page Set PS0004978

18
To order, contact your Blue Bird Authorized Dealer

PageSet Number



Models: AAFE, AARE, A3FE, A3RE, C1FE, CSFE, CSRE, GMCV, GPWB, MBWB, SBCV, TCFE,
TCRE, VCTA

INTERIOR
6 X 16 & 6 X 30

Service Parts Catalog

Key PartNumber Qty Description Comment

390 Mirrors
Page Set PS0004978

1 1043777 MIRROR,INTERIOR,6 X 16,CLEAR,W/PADDED 6 X 16 MIRROR, CLEAR. 
STANDARD FEATURE 30456-01

2 1043694 BRACKET,6X16 MIRROR,I/S STANDARD

2 1965771 BRACKET,MIRROR,6 X 16 INSIDE,AFGM FEATURE 30456-01

NI 1167808 SCREW,1/4-14 X 3/4,AB,PH1,PAN HD,BLK ZN

NI 1465954 NUT,HEX HD,5/16-18,LK,NYLON INSERT,YEL 

NI 2001121 WASHER,FLAT,5/16 X 3/4,X 5/64,YEL ZN DICH

3 0527283 SCREW,14 X 3/4, PH, PAN, AB 0003, YEL ZN 

4 1029099 MIRROR,INTERIOR,6 X 30,CLR,PAD,SAF,14 3/4 STANDARD. BEGIN WITH BSN 
12114

4 2276848 MIRROR ASSY,6 X 30,I/S,NON-GLARE OPTION 2250

4 1029099 MIRROR,INTERIOR,6 X 30,CLR,PAD,SAF,14 3/4 OPTION 2251

4 2276830 MIRROR ASSY,6 X 30,I/S,CLEAR OPTION 2253

4 2276855 MIRROR ASSY,6 X 30,I/S,SAFETY PLATE OPTION 2269

5 1025246 BRACKET ASSY,MTG,6X30,I/S MIRROR

NI 2021111 NUT,HEX HD,5/16-18,LOCKING,NYLON INSERT,

NI 1056647 WASHER,FRICTION,LEVER PIVOT,NYLON

NI 0854406 CAPSCREW,HEX HD,5/16-18 X 1,GR8,YEL ZN 

18
To order, contact your Blue Bird Authorized Dealer

PageSet Number



Models: A3FE, A3RE, C1FE, CSFE, GMCV, MBWB, SBCV, TCFE
INTERIOR
6 X 30 & 10 X 30

With Features: STD, FEATURE 22258, 22259, 22263
BSN: From BSN B10097195 B20097245 F10050450 F20050480 L10083420

Service Parts Catalog

Key PartNumber Qty Description Comment

390 Mirrors
Page Set PS0004982

19
To order, contact your Blue Bird Authorized Dealer

PageSet Number



Models: A3FE, A3RE, C1FE, CSFE, GMCV, MBWB, SBCV, TCFE
INTERIOR
6 X 30 & 10 X 30

With Features: STD, FEATURE 22258, 22259, 22263
BSN: From BSN B10097195 B20097245 F10050450 F20050480 L10083420

Service Parts Catalog

Key PartNumber Qty Description Comment

390 Mirrors
Page Set PS0004982

1 1025246 BRACKET ASSY,MTG,6X30,I/S MIRROR STANDARD; FEATURE 22259, 
30456-02,-03 WITHOUT  ACCESS
DOOR OR OPTION 0753

1 1752294 BRACKET ASSY,MTG,HEAVY DUTY,I/S MIRROR FEATURE 22258, 22263, 30456
-02,-03 W/ ACCESS DOOR OR 
OPTION 0753

1 0012116 BRACKET ASSY,MTG,HEAVY DUTY,I/S MIRROR FEATURE 22258, 22263 (MBWB 
ONLY)

1 1752294 BRACKET ASSY,MTG,HEAVY DUTY,I/S MIRROR FEATURE 30456-04,-05

2 0046503 MIRROR,INTERIOR,6 X 30 STANDARD; FEATURE 30456-02

2 0046520 MIRROR,INTERIOR,6 X 30,NON-GLARE FEATURE 22259, 30456-03

2 0083639 MIRROR,INT,6 X 30,ADJ KNOB,CONVEX, A3/CV FEATURE 30456-06

2 0046568 MIRROR,INTERIOR,10 X 30 FEATURE 22263, 30456-04

2 0046521 MIRROR,INTERIOR,10 X 30,NON-GLARE FEATURE 22258, 30456-05

3 0854406 2 CAPSCREW,HEX HD,5/16-18 X 1,GR8,YEL ZN 

4 1056647 4 WASHER,FRICTION,LEVER PIVOT,NYLON

5 2001121 2 WASHER,FLAT,5/16 X 3/4,X 5/64,YEL ZN DICH

6 1465954 2 NUT,HEX HD,5/16-18,LK,NYLON INSERT,YEL 

NI 0527366 SCREW,5/16-12 X 3/4,B,HEX HD,YEL ZN

7 1714062 ANGLE,MIRROR,REINFORCEMENT,SEVERE DUTY FEATURE 07812 OR 30963

NI 1167808 SCREW,1/4-14 X 3/4,AB,PH1,PAN HD,BLK ZN

19
To order, contact your Blue Bird Authorized Dealer

PageSet Number




